pySRIMfit Z{#>T#H5 - (0)

MainXZ1) 7k~
Main
if name == ' main
""" Test-CTRL Sw ---.---.---, - -=—,~-=, —==_ ---, —--
SwTest@l = True
SwTestB2 = False
C> SwTest®3 = False
SwTestBd = False
SwTest®5 = False
C) import pySRIMfit as srim
sr= srim.mySRIM()
sr.info()
H AR

srimWB. WBpath= [C:¥Users¥~¥pySRIMfit¥. /_MySRIMwb¥MySRIMwb. pickle]
.nWS= [150] sheets included.

@ . curWSname= []
SynHHHe CNe Ar Fe Kr Kr Xe Xe Xe Ta Au U
A12 41220 40 56 84 86 129 132 136 181 197 238
Airoo o o o oo oo o0 0 0 O O O
Aloo o o o oooo o o o o 0 o
Auoo o o o o000 0 O O O O O
Coo oo0oo0o00O0OO O O O O O O
EJ21200 0 0 0 0 0 0 0 0 0 0 O O O
Epoxy oo o o 0 o0 0 0 0 0 0o 0 O O O
Kaptonoo o o o0 o0 0 0 0 o o 0o o o0 o
Mylar oo o o o0 o0 0 0 0 o o o o o0 o©
Sioo oo0oo0o0000 0 0 0 O 0 O
Water oo 0 0o 0 0 0 0 0 o0 0o 0o 0 0 O
X3: srinfo() DH T
BT load &t 7= MySRIMwb.pickle [CEFHh TS
Beam x Target DS I FOZKFINET,
OHIS, %4bY xHIH, #2540 TT,
T—BAN—X (BT EHBHEEE £,
> BXK S FETRDTL V= Excellif SRIMfit Z, pySRIMfit TREL V=155
EBIEAL,
Rev.230424

pvESA: pySRIMfit
t_pySRIMfit.py

BEMZARY)T t pySRIMfitpy ZTTAF—TR TS,

D FARRRYYTH 53E%E (SwTest01~05) AELTHYET .
WEIZIEL T, INHM SwTest % = True IZLTLESLY,
N/, 27T =True TH OK T,

@ —BRHI. pySRIMfit EZa—ILEASR—F LET,

Rz, sr = srim.mySRIM() <9, X7
ZD®IE, srBEHRB0 OBKICFEZDLOITHEYET, X2

srinfo() T, 7—9 —rD—ENRTINET, X3
XT1: srmySRIM() T.

pySRIMfit JBD T—ZN—X MySRIMwb.pickle

DYEEIHGIZ load SR FET,

FELL(FE, mySRIMbase.py : class mySRIM() &48,

X2 srIHE) DANT [, LU FTCERTEET,
> help(sr.info)
> dir(sr)
> help(sr)
BIHE (L, ExcellRD SRIMfit [ZABPEHTHYET,

(%] pySRIMfit TREMAL TLB,
anaconda 3 ¥ZZELISNDEZ2—/L
> conda install xlwings
2 pip install python—-pptx
DBOBENELAEE AN
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pySRIMfit Z{#>THS — (1) : SwTest01 = True DFF
FRR-RHYTR

Test011%.

Test@1 : HowToUse ; very simple examples

if(SwTest@l):

print( ' ====== Test-01 ======")
wsn = ‘srimd@Ar S5i°

print("sr.maxLETE("{}" )= {:.2Ff} [{}] ; using sr.func()".format(

wsn, sr.maxLETt(wsn), sr.LETunit(@) } )
srlls = sr.gethS(wsn)
print("ws.maxLETt()= {:.2f}
sris.maxLETt ) )

HAER

Test-81
sr.maxLETt( 'srimd@Ar 5i')= 18.67 [MeV/(mg/cm2)] ; using sr.func()
ws.maxLETt()= 18.67 ; using srimWS object

Q)
@

5 using srimWS object™.format(

@D class srimWB() Z{#E>7-%§| T3,

BAIZE S LTz sr = srimmySRIM() (. srimWB() 25 RX%RLET,
TIT DT, ZDEIL,
sr.BEMB(T—O — R, INTA—A)
T.WBYZS5XM method NFATEET,
WBISADE#H—EIL.
> dir(sr) TRERINFET,

def

de

e

class srimWS() ZfE>7=1f] TY,

> srWS = sr.getWS( wsn )
T WBIZAMG, O—MBWSHSRX EHHBELET,
ZTDEIE.

sWS BB ( /N\TA—2) & ‘T—HOL— G R E
T.WSUZRAMD method WMFERTEET .
WSOUSXDE#H—EIL.

> dir(srWS) TERRSNFET,

def

pyESA: pySRIMfit
t_pySRIMfit.py
—HHEGHIE T,

pySRIMfit [Z[X. 2D class AAHYET .
class srimWS()
Excelik SRIMfit DT—AXR—XT7A )L
MySRIMwb.xlsx @ > —hk1# [ZHEHLET,
class srimWB() X7
MySRIMwb.xlsx @ Jwvo £k IZHEBLET,

X1: class srimWB() D attribution EZ > see) srimWBbase.py

class srimWB( object ):
" class Attributes

myclear(sel):

self.WBpath = os.path.join(os.path.dirname(_ file_ ), ./ MySRIMwb")
self.WBname 'MySRIMwb.pickle'

self WSL [1

self.nlWS 2}

self.WSnamel
self.WSnamelDB
self.curlis
self.curliSname

[l
[

None

__dnit_ (self):
""" Constructor

self._myclear()
getWS(selsf, WSnm:str) -> object:
" Find srWS by WSname

WSnm: str work-sheet name as ‘srim'+Beam+'_'+Target
<Ret> srimWS or None, if not found
<Set> .curldS, .curliSname

if(WSnm == self.curWiSname):
return( self.curWS )
if(WSnm not in self.WSnamel):
msg=("#@ getWS: WSnm=[{}] not found"
", then return value = float('NaN') or
_Err(1,msg)
return(None)
ix = self.WSnamel.index(WSnm)
self.curllS = self.WSL[ix]
self.curliSname = WSnm
return( self.curWS )

"ty format (WSnm)

load SN TIVE WSEFHEZTBICIE.,
> sr.WSnamelL
srWB.getWS() (£, WS# T srWSnamel [] ##£FL .

TY5

srtWB.curWS : BIEEFEHD WS #tJYEZF T,
DI L, Excellif FIRICFETT,
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pySRIMfit Zf#>THS - (2) : SwTest02 = True DEF pyE5A: pySRIMfit
_ . t_pySRIMfit.py
TARRD1) Tk

_T?S?@%_make?arnga?l?_____ Test02l£, RangeT—7JI/ILEER T,

if(SwTest@2):

print(’'====== Test-02 ======") _
. . - . . - > -\ I
® wsnL=["srim12C_Si', "srim2@Ne_5i', 'srim4@Ar_Si', ® <. ?E?]:},f_l, VYS% &. Beam Energy MY AL
'srim56Fe_Si', 'srim84Kr_Si'] F—REEELTBLT.,
EL=[70,90,95,100,110,120,135,140,150,160]
prant (gL e e @ T.srRng) EALVT, RangelEERRLET, X7
print('{:5.8f}" .format(E),end="")
print(’ [MeV/A]") X1 srimWB().Rng() = srimWS().Rng() calling sequence
for wsn in wsnL: WBET#t Rng( WSnm, E ) (£, .getWS() T WSnm ZF$£FEL TH 5,
print('{:<14}: "' .format(wsn),end="") WSEG#t Rng( E) #IFFUFHIL
for E in EL: WS D attribution _E[] _Rngl] ; Energy vs Range #ZFEL .
® print( {:5.1f}" .format(sr.Rng(wsn,E)/1000),end="") 1EEL/- E (B TD RangelB %,
print(" [mm]") numpy interp() BIH T, #E#E LT BLTOFET,
+ class spimWB( object ):
&jjffﬁ:l% def Rng(self, WSnm:str, E:float) -> float:
""" <Ret> Rng(E) [um] Range """
====== Jest-B2 ====== ws = self.gethsS(WSnm)
Beam E = 78 9p 95 180 118 120 135 148 150 160 [MeV/A] return( float('NaN’} if(ws is None) else ws.Rng(E) )
srim12C_Si 7.6 11.8 13.8 14.2 16.8 19.6 24.1 25.7 28.9 32.4 [mm] closs srimiS( object -
srim28Ne_Si : 4.5 7.8 7.7 8.416.8 11.7 14.3 15.2 17.2 19.2 [mm] def Rng(self, E:float) -»> float:
srimd@Ar Si : 2.8 4.3 4.7 5.1 6.8 7.8 8.6 9.1 108.2 11.5 [mm] " <Ret> LR"gFE) [”21 Ffa”g? .
srim56Fe 51 : 2.8 3.1 3.4 3.7 4.3 5.0 6.2 6.5 7.4 8.2 [mm] return( self._intrpTbl(*Rng’,E, self._Rng) )
srim84kr_Si 1.6 2.5 2.7 3.8 3.5 4.6 4.9 5.2 5.8 6.5 [mm] def _intrpTbl(self, fncH, E, Vtbl) -> float:
Vtbl[] --» E : interpolation
._E[1] [MeV/A]
Vibl[] [um]

<Ret> Vtb1[E] [um]

if( E < self.minE):
v, ok = self.minE, False

elif( E » self.maxE):
v, ok = self.maxE, False

else:
v, ok = np.interp(E, self._E, Vtbl), True

if(not ok):
msg = (self._msgH(fncH)+ Warn: E=[{:.2e}] out of range.’
"(min,max)=({:.2e},{:.2e})").format(E,self.minE, self.maxE)
_Err(l,msg)

return( v )
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pySRIMfit Z{E>THS - (3): SwTest03 = True DEF

ESAO—RXFHDETEH T,

fHl&EL T, 2301 Kr Bl EE.pdf ZETELTHETS

TARRD)T R Test03[.
""" Test@3 : ESA beam-line: min/max LET
if(SwTest03): @ Beam il DO EE
pr“int(':::::: Test-03 ::::::') Beam KI’E
Beam, BeamE = '84Kr', £9.59 M
- * onFk Mm
Pa, degC = 1010.*100., 23.7 re 4538
Matr=[ ['Au’, 5.8 1, Kapton 51.2 ¢ 50
[’Kapton', 51.2 ]; IC1.Al 0.60
['Al", 0.60], IC1.mylar 14.54
["Mylar", 14.54], PL.mylar 10.2
® ["Mylar', 10.2 ], PL.myAl 0.4
['Al", 0.4 1, PL.EJ212 100.0
['EJ212°, 1e8.8 1, mm mm
LA, el Airl|  145.0 Kep~Edegtt 0
] Lradrt, 0] Air2| 200.0 EdegtttO~Bist
avriiE 23.7 °C
F—d
Smpl:[ [rAlrJ 0.0 ]J avrx‘l.J:T: 1011.0 hPa
['"Epoxy', 158.8 ],
['5i7, 5.0 1,
['si’, 10.0 ]
1
Targ = Matr + Smpl
E, wsnSi = BeamE, 'srim'+Beam+'_Si’
print{' #, Matr , Thick, Eaftr LET, Range')
print(’ ,Lum[mm], [MeV/Al, , [um] %)
print(’ in Vacc , {:6.2f}, {:5.2f}, {:6.1f}" .format(
E, sr.LETt(wsnSi,E), sr.Rng(wsnSi,E)))
for i,trg in enumerate(Targ): Hjjjf'f%%
wsn = "srim'+Beam+' "+trg[@]
if(sr.Gas(wsn)):
====== Test-03 =====-
® els: = sr.EnewGas(wsn,E,trg[1],Pa,degC) #, Matr . Thick, Eaftr LET,
E = sr.Enew(wsn,E,trg[1]) in Vacc »[um|mm], gge‘;’;ﬁ],g 51’
LET = sr.LETt(wsnSi,E ’ I
fng = or Rng(bErsnSi E)) @, Au , 45.89, 63.30, 10.16,
- . : 1, Kapt 51.2@ 62.24, 18.28
msg = "(:2d}, {8}, {:6.2F}, {:6.2F}, {:5.2F}, {:6.1F}".format( 2 ar " S o0, 6222, 10.29
pini’(;;gge]’trg[l]’E’LET’R"g) 3, Mylar , 14.54, 61.94, 10.32,
p g 4, Mylar , 10.20, 61.73, 10.34,
pe b o e 5, Al , 0.49, 61.72, 190.34,
D (. BREELRL/ASA—FEIEELTHE. 6, 1212, 100.00, 60.15, 10.52,
7, Air , 145.8@, 57.71, 19.84,
@ T. ThThOE—LBENEBBZROD S M7 . 200.00, o426 ML
2 2 - 2 - 2 - 2
E = sr.Enew() or sr.EnewGas) [iADNIEZE . 18, Epoxy , 150.80, 49.51, 12.05,
- 11, Si , 5.00, 49.34, 12.08,
LET = srLETt(E ) 12, Si , 10.09, 49.82, 12.13,

Rng=sr.Rng(E) ZFEELTRHEET,

Rev.230424
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pyESA: pySRIMfit

t_pySRIMfit.py

[ A\
E—ASAL R ref) params B=x
Au 458 458 ym
Kapton 512 51.2 um
IC1.Al 0.60 0.60 um
IC1.mylar 14.54 1454 um
PL.EJ212 100.0 100.0 um
PL.mylar 102 10.2 um
PL.Al(mylar) 04 0.4 um
Airl 1450 145.0 mm
\_ |Air2 200.0 200.0 mm
237 23.7 °C
AirP SUE 10110 1011.0 hPa
ThkStd 0.9853
sk B4Kr  A-84  z-36
Eom A EBCERME 65590 F
@ -0.660!
E LET  Rin Si
EDeglHO&ET MeV/u in Si Mm
in Vacc 69.59 9.51 1629
aft Au 63.296 1016 1393
aft Kap 62.245 1028 1358
aft IC1-Al 62225 1029 1355
aft IC1-Mylar 61.936 1032 1345
aft PL-EJ212 60.370 1050 1290
aft PL-Mylar 60.167 1052 128
aft PL-Al(Mylar) 60.154 1052 lzfé
aft Airl 57.709 10.84 1202
BAHEIET
aft Air2 54259  11.30  1092[ @
Range
[um]
1629.8 N = 4=
1393.1 @ P, ExcellRCEtEL-ER
1356.8 . _
1355.3 ® . pythonkR CEHE LR
1345.1
D10 MAOZEBAE—BLTOET,
1252.2
1282.1
1092.1 @
1892.1
944.4
939.4
929.4



pySRIMfit Z{#>THSD - (4) : SwTest04 = True D

TARRD) TR
" Test®d : plot LET, Range, Strageling
if(SwTest4):
print(’'====== Test-04 ======")
wsn = ‘srim4@Ar_Si'

sr.WSplot_LET(wsn, LETe=True, LETn=True, LETt=True,
rngX=(1le-5,1e3), rng¥=(le-2,1e2))

sr.WSplot_RngSt(wsn,Rng=True,StLng=True,StLtr=True,
rngX=(1le-5,1e3), rng¥=(le-3,1e6))

wsnl = ['sriml12C Si', "srimd@Ar Si°, "srimB4Kr Si°

sr.WSsplot_LETemp(wsnl, LETe=False, LFTn=False, LETt=True,
rngX=(1le-2,1e3), rng¥=(le-2,1e2))

sr.WSplot_RngStcmp(wsnlL,Rng=True,StLng=False,StLtr=False,
rngX=(1le-2,1e3), rng¥=(le-2,1e6))

®0 OO0

sr.WSplot LET() [&.
BEWSD LETT—JLETavbLET,

Optin param DIEE T.
LETnuclear, LETelectric, LETtotal 3R xON/OFF %>
X&H range, Y&H range DM AIEETT,

sr.WSplot_RngSt() I&.

S)

IETEWS O Range, StLtr, StLng T—JILETOVRLET,

sr.WSplot LETcmp() &.
sr.WSplot_RngStemp() (X.
BHEWSO T—JIL%F LB ITAvk LET,

® e

WST—TJIILDSHRIX,

ExcelfR Tl&k. LYBLYE MySRIMwb.xlsx ZFWLVTR 5
WHENHYELI=A,

Python iR Tl&. object DT, RI-MNETT,

Rev.230424

, sriml29Xe Si']

pyESA: pySRIMfit
t_pySRIMfit.py

Test04lE, 7—UY—bRT—TILDOTOVERT TY,

-
H AR
102 srim40Ar_Si
« LETt
« LETe
« LETn
101
N
£
<
£
= 10%%
>
[}
=)
=
w
-
10-14
-2
1073 10“ 103 102 101 °
E [MeWA]
102 LET comp.
Lot /\
~
=
<
g
= 10%4
>
[}
Z
=
w
-
10-1
« LETt srim12C_Si
LETt_srim40Ar_Si
o LETt srim84Kr Si
o LETt srim129Xe_Si
1072 T T T T
1072 1071 10° 10! 102 103
E [MeV/A]

pySRIMfit : B Z =7 L

03

Range, Straggling [um]

Range, Straggling [um]

106

srim40Ar_Si

1054

Rng
StLng
StLtr

107>

106

1074 1073 1072 107! 10° 10! 102 103

E [MeV/A]

Range / Straggling comp.

1072

« Rng_sriml2C_Si

« Rng_srim84Kr_Si
« Rng_srim129Xe_Si

Rng_srim40Ar_Si

1072

100 10! 10? 103

E [MeV/A]

107!



pySRIMfit Zf#>THS - (5): SwTest05 = True DEF pyE5A: pySRIMfit
TR RH) Tk t_pySRIMfit.py

""" Test®5 : info srimWS, srimWB

if(suTestos): | WAL SLERE R R TEET,
prift(’=ass-= Test-05 —--==-") HL<E. BEIMO help) ZR TS,

sr.info(mod=0)

Test051E. srimWS 1 srimWB DIEERERTR TI,

sr.WBinfo()
@ sr.WSinfo( ' srim84Kr Si‘,modlL=[-1]) )
wsnmL = sr.getWSnmL(Beam="Kr',swSort=1) ® sr.WSinfo() DfENE

@ sr . WBdump (wsnmlL) —® method T.WSOE£T®D dump WNHEZRETEET,

class srimWS( object ):
def info(self, modL:1list=[8], *,
intrvE:int=1, show:bool=True ) -» list:
""" Info. of this srimWs
<optional> see) srimWSdump()

@ SfWBdump() D Hjjjff‘:nt% lf'?/‘ﬁ'??’f)lxliﬁjl'éhi?'o modL:  [int,..] dump mode list

. @: simple info. ; wsName,Beam,Target
\ \ N ) > E
sr.WSmfo() & sr.WSpIot() Eﬁl’ < dump L’_C(' $¢° 1: other info. ; TrgDens, BraggC, SRIMver, Corded
Afey BEOIMER Poi-say A3Rla- BROBR ®R AW 2: target compo.; TrgCmp table
| 3: conv. factor ; LET unit conversion table
4: table size ; {min|max} of E, LETe,n,t, Rng, StLng, StLtr
srim84Kr_Air ) 1 Sk A 5: table contens; E, LET{e|n|t}, Rng, StLng, StLtr
Toramts Hir Tarsettic Arr (Do 150 101 (sam0) (6] R e 6: table si . LET{e|n|tHL|H}
\Iguf—: ?,Zéh:-'ﬂﬁy‘mg]. :l?w;ulz;lg:w;m' BragsC: 0.00% €. 8 0. 08 b table size 2 eln
2 BasPtbl: 1.013e405 [Pa] GasTtbl: 20.0 [dest’] PR M s -1: all of above
- SRlMver: SRIN-2013.00, Corded: Avoshida. RIKEN 2016.06 IR .
; P ———— T <optional: kwd args>
Tt R - o] i intrvE: int when mod=5, skip E interval
H show: bool show dump result as print()
3 s Uid, factor,  unit E‘ <Ret>
0, 1000400, ¥/ (ng/ca?) . .
120, idamtron nothing if show=True
bl e txL: [str,..] else dump result as list of text
E:I-Ill!'ﬂ!.l(i”‘-‘:l?] L L
7, 2ARH01, @/ (IETS ol ams/ea) . 1 L] L S IR - - - - - B . . . . . .
4 U, 43002, 155, rodiesd it T 10 1 1 w1 10

o 10t
E [Mevia]

Srim8aKr_Air

5 10¢
g 10
g
& 0

6 §
EtS

oo .00 T e
0. 3120000, 04, 30823000 10 100 100 100 10¢ 10
] E[Mevial

—7 -
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pySRIMfit 771 J)L—&

~ @@ pyESA_pySRIMfit

@D I

v @ aypylibSbs |

R _init_py
@ fit_Gauss.py

@ ppt_rep.py

Q |

~ (@ pySRIMfit |

> @ _doc
~ @ MySRIMwb
~ [ _samples

| ®

MySRIMwhb_full_220909.xlsx
MySRIMwb_minE5.pickle
MySRIMwb_minE5.xlsx

l B MySRIMwb.pickle @

P @ _proto @

> [ _test

~ (@ add_SRIMoutCSV|
SRIMout_084Kr.xlsx
SRIMout_136Xe.xlsx
~ @ add_SRIMoutTXT]
B Argonin Gold.txt

B Hydrogen in Gold.txt
B Uranium in Gold.txt
( & _init_py N
E ref note.txt
@ e5SRIMbase.py
& mySRIMbase.p
@ srimWBbase.py
& srimWBcnv.py

@ srimWBmisc.py
@ srimWBupd.py
& srimWSbase.py
R srimWScnv.py

\_" 2 srimWSmisc.py

@ t_pySRIMft.py
upd MySRIMwb. @

Rev.230424

MySRIMwb_full_220909.pickle

@ ®

®.0.®

pyESA: pySRIMfit
srimWBupd.py

MD22DH import [ZHEILTAHILE —TT,

A3, pySRIMfit module MRS Tk
[X. pySRIMfit ZF LNz 2T TS S AGNR) & A—T4)T4—(%R)

M. BEf load &hd 7T—4~X—2Z MySRIMwb.pickle T,
Excelfft MySRIMwb.xlsx £, pickle fREZE LT B ZGeARAA =TT I 74 /L TT,

B ZF/LZ—RAD ¥ samples T7#/LX—(ZHEDIL.
MySRIMwb_full 220909 : 7T SRIMfit HP 75 down load TEBERETHR (TET3IEL))
(*) MySRIMwb_minE5 . ESAO—X T EBLR/IEVF (BIFEEFKR) T,
Default T GICEWTHEDIE, (¥) TT, BEIZIEC TIFANEZEEZZEL THRELSESL),

257 HZ def saveWS(self, path:str:':None, fnm:str‘:{\lone):
save srhB as .pickle ->r#1e1)
. R <optional>
D MySRIMwb_full_220909.pickle 7,133 KB path: str load path (defa. self.WBpath)
MySRIMwb_full_220909.xIsx 18743 KB fnm: str file name (defa. self.WBname)
(] MySRIMwb_minE5 pickle 4075KB _path = path if(path is not None) else self.WBpath
MySRIMwb_minES5.xlsx 10.979 KB _fnm = fnam if(fnm is not None) else self.wWBname

fn = os.path.join(_path,_fnm)
with open(fn, 'wb') as f:

pickle.dump(self.WSL,f,protocol=None)

pickle (F, srWSL[] IZBERE /= class srimWS() object & sr.saveWS() method T

SYFS4X L TERFELI=ED TT, pickle.dump( protocol=None ) ZEHL TIVFET,

FDIFAINY AL xlsx [ZHNFIERUTIZEYET

X AL, class srimWS() DtgEEJFFEEET S/, pickle DEIBIESFESLGYET,
£ T, TTI71/L xlsx L—#EIZFEL THO TS0,

(X, #&dBD 21—T1)T+— (upd MySRIMwb.py ) TERLEY,
© 1%, module FA%-T/\vSTHDIF7AILTY,

pySRIMfit : B Z =7 L 7



SFETHE->TL V= Exceliit SRIMfit . pySRIMfit TEL=L\ES pyE5A: pySRIMfit
upd_MySRIMwb.py

~ & PyESA pySRIMf D upd MySRIMwb.py ZHELVET,
> [ aypylibSbs
Y ? p;SR;':jt 1: 5¢: MySRIMwb.XIsx % . F &
- @ ~¥pySRIMfit¥. MySRIMwb |2 EZZFaF— LT#HKL
v & _MySRIMwb BB ~¥pySRIMfit¥_MySRIMwb¥MySRIMwb.pickle & A& LTH<
> [ _samples
@ MySRIMwb.pickle 2: upd_MySRIMwb.py #ZE{T95
MySRIMwbxisx )2
> @@ _proto 3: Menu= 5) Save Book Z:&iR
> [ test
> & add_SRIMoutCSV 4:  2)Save ~tmp.xlsx as ~new.pickle & ~new.xlsx &R, TWEMAKRFVET,
> G add_SRIMoutTXT _ .
& init_py 5: Menu=9) exit TR TLTHHL.,

B _ref notetxt
@ e55RIMbase.py
& mySRIMbase.py

6: T hEntf- J7MILDERERE: pickled 7 ILDHTOKTY
MySRIMwb_new.pickle --> MySRIMwb.pickle

@ simWBbase.py 7: BRTEE L= pickle 774 /L% ~¥pySRIMfit¥_MySRIMwb IZ{R7F
@ simWBcnvpy L ET. 5T MySRIMwb.XIsx & MySRIMwb.pickle H\EI#iENES,

® srimWBmisc.py
@ srimWBupd.py
® srimWSbase.py

& simWScnvpy @D upd_MySRIMwb.py @ fthA=1— ZFES &L,
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